A FL A =
OO 71k AN FL# A H S5 10H 25H
FEA BB ML vooa A FTRALEH
OB NNE ¥ T H 130 H M
AR R THFRHBCH 1 fEie24%
¥ OB i 4,552,000 M
( Bl A &) 5,007,200 M)
Of4
HTF=2a—hLETH e A5 ] FR A A 4,061,000 M
( B A %) 4,467,100 M)
T H o
R %A & 1,280,000 1
— B A LT Rk il i i 6 b 4,708,000 1)
s X & B B/ 01 [|m|%HE 2 % 3 [\l | =
AR 4,280,000 AL
S T 4,400,000
ARt 4,400,000
BRSAT AT — s
A R LG RS
A PR A DH LS Tk
LRSHEFTI TR
A IR B 7 e FeiR
AR N L ek
BRI Tay s FEIR
PRSI FEIR
AR S FEIR
AT IR 1165 RS
RSt v a—p—R—E R FER
A IR — iRk T RS
HIREHZ T 5k FER
ARk Tk
AR L % IR
IR R 3 FER
BRI E R IR
IR R R IR
B S U R FEIR
BRI aF A R
AR R 1A Tk




